Product Name: TWM602
Art number: 402212

A

TECH LLINK"

drTr—D O C

FCE:)( D CDO CO CoO — CO Co Co Co
a JC /) /) ST
HC A o o o o CO Co Co Co

U0

T |

> O CIID

TECHLINK, A Division Of Tapehand Ltd.
Units 7 and 8 Bat and Ball Enterprise Centre
Bat and Ball Road

Sevenoaks

Kent

United Kingdom

TN14 5LJ

5} 0800634 2699

@ spares@techlink.uk.com




s Y e Y e e > > > o>

UNT
UNT

oo o o [l e e Y e R oo o o o o

(C—=cc—ocm Tooc o)

Hc—oc—ocmm aDoc oo )
(C—=cc—ocm Tooc o)

Package W
I o
[W-A] x 4 [W-B] x 4 [W-C] x 4
Package M

(M5X 14) (M6 X 14) (M8 X 20) (M6 X 30)
& @j ] I
S FIxe [M-G] x 8 [M-H] x 4

T VA Gk Ty &

ﬂ*//////////////////

IJ( ) C ) C ) C D C ) ( D) e C DEN ¢ DENE DI ) C ) C )
(




[ 55mm][]{

[/.27) [ 1y

(=

INIEE @j

- X4

@x4
(s) [

60mm
I 24 T,
(IN
IMOmm
f i \ (o 3/8")







O¥IN

wall | [




